CP-1V/CG-4.1/CC-7/19
B.Com. 4th Semester (General) Examination, 2019
Subject : Financial Accounting-II
Paper : CG-4.1 (CC-7)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions from the following; 2x10=20
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(a) What is Royalty?
TRolol Ji? -

(b) What is meant by short workings?
qof® e T@ce F @RI

(c) What is Goodwill?
N e

(d) What is sacrificing ratio?
Spaligets e

(e) What is Revaluation Account?
sisfeniE o e

() What do you mean by Fixed Capital Method in partnership?
M PRI W A 7S Fe0e QIR 2

(g) What is Hire charge in Hire Purchase System?
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(h) Who is a sleeping partner?
T SN 2

(i) What is meant by an insolvent partner?
STl SRR IS (IR ?

() What do you understand by Independent Branch?
FIA A TS T @I 2

(k) What is inter-departmental transaction?
TN EHoE e

(1) In which proportion the profits or losses are distributed among the partners when there is

no partnership dead?

SAMITE pIEATH SREAE T ST 7 WL @I ST N 60 272
(m) What is sub-lease?
Ty ©OIvl He
(n) Mention any two occassions where goodwill of a firm is required to be valued.
SRAMIE PG AR TR A W G @ @I 76 B9 S 3@l
(o) What do you mean by piece meal distribution in the context of partnership accounts?
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2. Answer any four questions from the following: 5x%4=20
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(a) Distinguish between Hire Purchase System and Instalment Payment System,
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(b) What are the principal causes for the dissolution of a partnership firm?

(P SR il Ko T PR § Do

(©) A and B are the partners of a firm sharing profits and losses in the ratio of 4:3. C joins

them as a partner for % th share paying ¥ 14,000 as his share of goodwill. A and B will

share future profits and losses equally. Pass journal entries in the books of the firm and

show the new profit sharing ratio.
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(d) Define dependent branch. Mention any three features of branch. 2+3=5
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(e) From the following particulars of a departmental organization having two departments

X and Y, prepare a departmental trading and profit & loss account for the year ended March
31, 2019.

Department X | Department Y
L4 4
Stock as on 01.04.2018 20,000 2,000
Purchases 3,00,000 30,000
Wages 15,000 20,000
Salaries 10,000 15,000
Stock as on 31.03.19 20,000 7,000
Sales 4,00,000 2,00,000
Stationery 2,700 1,700
Plant and Machinery 50,000 50,000

Other information:
Miscellaneous expenses — X 6,300, Advertisement expenses — ¥ 9,000, Bank charges — X 900,
Depreciate Plant & Machinery by 20%, Unallocated expenses are to be apportioned between

department X and department Y in the ratio 2:1.

& 2P T8ay)



CP-1V/CG-4.1/CC-7/19 (4)

(f) On the 01.01.2018 Das & Co. purchased a Motor cycle from Ghosh Automobiles Ltd. on
hire purchase system. At the time of agreement a sum of ¥ 24,000 was paid as the cash
down price and the balance was payable in three equal annual instalments payable on 31st
December each year together with interest @ 5% p.a. The amount of last instalment

including interest was ¥ 33,600. Calculate the cash price of the Motor cycle.

(&S o 783y)

3. Answer any two questions from the following: 10x2=20

AT @ e 76 exE Teg e

(a) X Ltd. took a mine on lease from Mr. Landlord at a royalty of ¥ 2 per tonne with a minimum
rent of ¥ 60,000 yearly. The lease permits the recoupment of short workings of each year
out of royalties for the next two years. The lease also stipulated that if in any strike year,

the minimum rent not being reached, the actual royalties earned for the year will discharge

all rental obligations for that year.

The output of different years were as follows:

Year Output in tonnes
1 Nil
2 10000
3 26000
4 36000
5 50000

Draw up Minimum Rent, Royalties, Short workings and Landlord Account. Workings

should be shown properly. 24+3+2+3=10

XFE 2 7o)



off on Diminishing Balance Method.

Show the Machinery Account and Eastern Trading Account in the books of Mr. X for the

entire period. 5+5=10

the books of Head Office for the year 2018: 7+3=10

On 01.01.2018 On 31.12.2018

4 L4

Stock 1,20,000 96,000
Debtors 1,00,000 1,15,000
Goods sent to branch during 2018: 4,20,000
Cash sales 2,58,000
Credit sales 3,60,000
Returns to H.O. 48,000

Bad debts 6,000
Discount allowed to customers 3,100
30,000

Returns from customers
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On 01.01.2018 On 31.12.2018

4 (4
Expenses paid by H.O. —
Salaries and wages 84,000
Rent (from 01.01.2018 to 31.03.2019) 52,500
Sundry expenses 36,000
@ 2l woy)

(d) Xand Y are in partnership sharing profits and losses in the ratio of 3:2. The Balance Sheet

of the firm on 31st December 2018 was as under:

Liabilities 3 Assets T |
Capital — Building 3,00,000
X 4,00,000 | Plant 2,50,000
Y 2,00,000 | Stock 1,60,000
Reserve 1,50,000 | Debtors 4,00,000
Creditors 3,80,000 | Less: Provision for
bad debts 50,000 | 3,50,000
Bills Payable 20,000 | Bank 90,000
11,50,000 11,50,000
- ]

They admitted Z as a new partner on 01.01.2019 on the following conditions:
(1) Z should pay ¥ 1,50,000 as premium for goodwil].

(i) Z would receive % th share of future profits.

(iii) Plant should be depreciated by 10%.

(iv) Building should be increased to ¥ 3,50,000.

(v) Stock should be reduced by ¥ 60,000,



£ CPIVOCA TS
Ein £ il Soump e cogeial me stk Sgwe 5 28 of eleeed o o 08 partees

L it ws B oot @t s, doon Bon i S Farsaers (el
Bemms wnd Oomwag Bulisws West of s ww Sin Sadwdn 88




